


Bas SHLOT 0so) g o 44 0 o e
+1 -1

® 1 @2 @) @ 4 ® 5
34+i a-i  (3+i)(1-i)+ 1 +i)a-i)

I+i 1-i

(141 -i)

:4—2i+(a+1)+(a—1)i

2

2

sje] o] W57} Hleid 314 1

a=3

T T

a+5+ (a-3)i

o] o]ofof SRR a—3 = 0




A kol Hishe] A 7 = 3(k + 2i) — k(1 - i) &) grol =857t
HE5 ko g Agshi?

O -2 )0 @1 @ 2 ® 3

z = 3(k + 2i) — k(—2i)
= 3k + (6 + 2k)i = &=d|F
L 3k=0,k=0




4. (x=-3)+ (y-2)i=2+5i5 WEFdH= A4 x, yol ot 2x + y 9]
e (Hi= V1)

@ 10 @ 12 ® 15 (@)17 ® 20




O -1 @1 ® 3 @5

Shoj, 2x+y

(x+y)+(x-y)i=3+i
Cxt+y=3,x—-y=1
Lx=2,y=1

L 2x+y=5




A (x4y) + (x—y)i = 3-5i 5 TFHoh= A x, yol thote] x? +)?

D 5 @ 8 ® 13 (@)17

® 25

Baivt A2 g 270 st
x+y=3, x—-y=-5

9 = 4L AYstol B x= -1, y=4
x4y =17




54 (a+3b) + (a—2b)i = 7-3i & W5t A4 a, b ol Histo]
a-b o] 32?

@ -3 @—1 ® 1 @ 3 ® 5

S5 ~
(a+3b)+ (a—2b)i =7-3i A BAFIL AR T 270
OlsfiX a+3b=7,a-2b=-3

fle] = Ag dgsto EW

a=1, b=2

La-b=1-2=-1




Ay, yoll tigte] x+y+ (xy—1)i = 242 o % 4y 9] ZE22

® 4 @ 2 @1 @0 ® -1

x+y=2, xy-1=1 .. xy=2
x4yt =(x+y)?-2xy=0




3—1i

313, 311, 311
®§+1§31 ®411_0+1Fl @1—0—1—01
Y33 ©5ty

243 (2+3)(3+i) 3 11

37 B-)B+) 1010




2+3i

10. ~ & Al4tstA?
3—1
D 3+ 11i o
3+ 11i
10 ©

3+9i
10

B

24+3i  (2+3)(3+1i)

3—i  (3=0)(3+i
6(—3—1)—(111' )

s ih

10




1-2i 1+ 26
2431 2-3i
> =

8
> e o

(1-20)(2-3i)+ (1 + 2i)(2+ 3i)

(2 + 3i)(2 - 3i)
(2-6)+(-4-3)i+(2-6)+ (4+3)i
22 +32
(=4 —=7i) + (-4 + 7i)
13

8

13




Axtstedzt.

(342i)—(3-2i) &

12.

4i

e

ul

gt

t}
4j o]t}

ok

L 55270e ALt

-

SR E 47 HER

. 9




13, (V3-i)2x (V12 +2i)? & 7+ds] aFH? (Fi= V-1)

(FA) = (V3-i)? x (2V3 + 2i)?
:22x{(«/§—i)(«/§+i)}2

=22x4% =22 x21 =26
=64




ol

14, i+ 2+ 8+ + P& s sk (D i = V-1)

@Di @ -i ®1+i @o0

~&B

P=-1,F="xi=-i i*=(2)?2=(-1)? =1,

P=i*xi=i

i+ 4+ B34+ +15
=i+ (-)+(-)+1+i=i




1+8 440
L2+ ol e

ON] (}—i @—é

1+2+8 14 (=) +(-1) i

I+2+#4 1+(-1)+1 1




1
1P+~

16.

®1

@ 0

1-1+i=i

&)




17. x=1+ VBiy—1- V3 & 0], 22 42 o] & Pafolal,

>

> ™ -2

x+y=2 xy=3
X4y =(x+y)?-2xy=22-2x3=4-6=-2




18. x=2-V3i,y=2+ V3i & o, x> +y? 9] I F3HA 2

>

> ®™et: 2

2 4y? = (2- V3 + (2 + V3i)?
=4-4v3i-3+44+4+3i-
=2

2 +y? = (x+y)* - 2%y
=42-2.7
=16-14




19. x=1+ V2i,y=1-v2i &0, x*+)* o F& F5hA?

-1 @1 @2 @2 ® -3

=1+ V22 =1+2V2i-2=-1+2+2i
¥=(1-V2)2=1-2V2i-2=-1-22i
. x2+y2:_2

4y =(x+y)?-2xy=22-2x3=-2




20. Az, yoﬂtﬂo}oq A z=x+yi 7tz =4 F WL 0, 2% +)?
o] #2? (& z =z 9 AdFAagolt)

D1 @ 2 ® 3 @4 ® 5

B ~

z=x+yi X z=x-yi o|BZ
72-72= (x +yi)(x —yi) = x2 +y?
FolZ 27X z-z=4°|BE=
¥ +y:?=4




1+ 3i

21. z = . d o, th-F F 7 9 B ELsz 9 T2 AL2? (
—1

i=+V-1)
14 3i 1-3i 1-3i
1+i 1+i ® 1
1—i 1+i
1+ 3i 1-3i

(i):@o]_ﬂ_g
21 1

__(1+3i>_1~|—3i_1—3i

T\1=i ) T TS T 1+




2 z=a+bid W, 29 B 5257 =a-bi2 YEHAT H=
o _E_ A)

4

2+i=2-i @ -2-V3i=-2+ 3i

@
@)=1=i+1 @ T=0




23. x=3+2i & o, x2 - 6x-10 9 G FoHA L.
B

>
|> ekt _93

od =

B

x=3+2i oA x-3=2i ¢ FHZ AFstH
(x=3)2 = (2i)? sox2—6x=-13

x> —-6x—-10=-13-10=-23

=23




24. V3. V5 Axterm?

@ V15 @-v15 ® Vi
@ - VIS ® -15

‘ \/—_3-\/3:\/3',\/51-:_\/5




‘/a_ a o o =z 0
%_—\/g o), oS §

rlo

A7

(@)azo,b<0 @ a>0,b>0
@ a<0,b<0 ® a<0,b<0

®a=0,b>0

‘ fﬂ*@@ﬁ%wooma_




